Part [

Instructions.

e Check that this hooklel has P
page is marked with EEE 2010 4 0y,

¢ This bart of the examination consists of 9(
is followed by four possible

s 1 through 23. Also check that the bottom of eéch

) mmultiple-choice questions. Each question
answers, at least. one of which is correct.  If more than one
choice is correct, choose only the best one. Among the correct

answers, the best answer
is the one that implies (or includes) the other correct answer(s). Indicate your chosen best

answer on the bubble-sheet by shading the appropriate hubble.

® For cach question, you will get 1 mark if you choose only the

best answer. If you
choose none of the answors,

then you will get 0 for that question.
choose something other than the best

will get —1/3 mark for that question.
® You may use the )

However, if you
answer ar mlultiple answers, then you

ank pages at the end of this booklet, marked Rough work, to
do your calculations and drawings. No other P

aper will he provided for this purpose. Your
“Rough work” will not be read or checked. ’

You may begin now. Good luck!

QUESTION 1. For the veal-valued function flr) = o = 48 G — 4 11, (defined for
all real numbers ), the point x = 1 iy ‘ :

(a) a local minimuom,

(b) a local maximun,

(¢) a point of inflection.

(d) none of the above,

QUESTION 2. Consicder the function f MAPPINE points trlfl the plane iﬁto the plane,
defined by f(x,y) = (£~ w0 +y). The range of this function s
(a) the 45 degree line.
(b} a ray through the origin but not the 45 (lugrm' line.
(¢} the entire plane. |
(d) the st and thind quadrants,

QUESTION 3. Suppose {uy, v, .. ., Un} IS a set of lincarly dependent vectors, none of

them being the zcro vector. Suppose ¢, ¢y, <+ Cnoare scalars, not all zero, such that

n . . " .
2teq €V = 0. Then the Ininimum number of non-zero scalars is
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)
} (a) 1 -
) (b) 2
) {c)n—1
) (d) cannot be determined.
y QUESTION 4. Suppose the non-gero 2 I coliimm vector  solves the system of equations
) Az = b, where A is an m x n matrix whose columnns are the vectors ay, az,...,¢,, and b
is an m x 1 column vector. Then the set of vectors {ar, ag, ...y, b} is
) . o ‘
(a) linearly independent.
) b) linearly dependent.
y dep
} (c) linearly dependent ouly if . ¢, ..., «, are lincarly dependent.
) (d) linearly dep:‘endent ouly if m = n.
} QUESTION 5. For a system of linear cquations Az = b with ne equations and 7 variables,
) where m > n and b is a given veclor, the following is true.
\ (a) Tt can never have a unigue solution.
(b) It always has ot least one solution.
S } .
7 l . . .
(¢) It has at least a one-dimensional solution space.
3 . . L .
h. (d) If Rank(A) = n and a solution exists, it must he unigue.
3 ‘ ‘ : . . .
QUESTION 6. Supposc we are interested in estimating the mcan height of MUA. students
’in Delhi University. ‘An average height estimated from a random sample of size 30 is hetter
. than that estimated from a random sample of size 20 hecause:
. (2) The sample of size 20 is likely to be more biased because it is less representative.
(b) The sample of size 30 is likely to yield more precise estimates of average height
) e ‘
than the sample of size 20.
(c) The Central Limit Theorem prescribes a miniinum sample size of 30,
(d) Both (a) and (b).
QUESTION 7. A doctor testing a diagnostic tool for a rare disease wants to minimize
the chance that the:test will lind a patient to be healthy when she is in fact sick (the null
hypothesis being that the patient is heatthy). The doctor shouwld minimize the probability
of:
(a) Type I error, which would denote a Talse positive,
(b) Type I error, which would denote o false positive.
(¢} Type I error, which would denote a lalse negative. "
(d) Type II error, which would denote a lalse negative,
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QUESTION s. Suppose
1.2+ 0.5X. Which of 1he
between X and v

you have the following -ostinated regression equation: Iny =

following is a good interpretation of the estimated relationship

(a) A unit change in X iy

associated with a 5() peree
(b) A unit change in .V is

ut change in Y. : 1
pereent change in ¥, _

associatod with a 50 unit. change in ¥,
associaloed with » ().

H..‘w‘."i()(fiélt(‘,(l with a (.h
c) A one percent ('.]N]AII o in X Is
|LI

(d) A onc percent change in X is

QUESTION 9. Lot A,, Ay, A

5 unit change in ¥,

R

S

[t

4 be ndependent uv{wn!‘.s with probabilities P p2, p3 respec-
tively. The probability Lhal none of these events ocenrs otials
(@) 1= (1 + g+ pay) _
() 1= (p1 +py + py) + Pipa+pips + papy. f )
(©) (1 =p1)(1 - py)(t - 1) :' : )
() (1= p2)(1 + pypy) ' :
QUESTION 10. The market for good X hag the deinand fmetion D(p) = 100 — 15p
where p is the price of good. X, There arc ten j):l'i(:n taking Arms, cach ;having a cost
function ¢(g) = 7%, where g is the firm’s own outpﬁt. There is no new entry. Prices and
costs are in torms of rupees per unit. The 9(111iii1)1'ii1111 price in this market i{s
(a) Rs. 20 : -~y
(b) Rs. 15 .
(¢) Rs. 10
(d) Rs. 5 .
QUESTION 11. The market for good X has the demand function D(p) = 100 — p and
the supply functjon S = 20 + 3p where P s the price of good X, If the government
Imposes a sales tax of R, L) per unit, of the good on selleys, [he eonilibrinm market price :
will increase hy '

(a) Rs. 10 : : f
(b) Rs. 7.5

(¢) Rs. 5

(d) Rs. 0

QUESTION 12. A monopolist,

who can prodnce output at o cost of Ry
faces an inverse demand CUrve
]

given by p = G 2q. The pwolii, maxintizing price for the
monopolist. is

(a) Rs. 40
(b) Rs. 20

20 per unit
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(¢) Rs. 30
(d) Rs. 60

QUESTION 13. Consider a duopoly markut in which both firms chioose quantities. Sup-
pose we have the reaction enrve of cach firm, Lo, the curve that yields the firm’s optimal
quantity choice iu?rusponsu Lo a quantity chosen by the other firm. 1f one firmn is the
Stackelberg leader and the other is the Stackelberg follower, then which of the following
conditions characterizes the quantity chosen by the leader?

(a) The quantity at which the:leader’s suprofit curve is tangential to the follower’s
reaction curve. |

(b) The quantity at which the tblluwe:fs isoprofit curve is tangential to the leader’s
reaction curve, ,

(c) The quantity where the leader’s i:s'ol.)rufit curve attains a maximum.

(d} The quantity where the two reaction curves intersoct.,

QUESTION 14. A society has 3 individuals aud 3 alternatives A, B and ' Individuals
1 and 2 strictly prefer A o 22 and 13 10 ¢ Individual 3 strictly prefers € to B3 and B to
A. A Rawlsian social planner wonld therefore choose

(a) A.

(b) B.

(e) C.

(d) Aor C.

QUESTION 15. A natural monopoly is said to occur when
(a) the long run average cost curve is U:—H]l?l[)Cd.
(b)
(c) the long run average cost curve is Hat.
d)

(

QUESTION 16. If everybady in the ceconomy decides to consume i higher proportion of

the long run average cost curve is decreasing,

the long run average cost curve is itereasiige.
2 g

their income, the corresponding IS curve
(a) will be fatter.
(b) will be steeper.
(¢) will remain unchanged.

(d)} will become horizontal.

QUESTION 17. An increase in the (rxpucl.(-s(l rate of inflation will
(a) shift the LM curve up.
(b) shift the LM eurve down.
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(c) leave the LM curve unchanged.

(d) have an ambignous offect on the LM curve,

QUESTION 18. A dovaluation of
balance only if the following
(a) the sum of price ol
(b) the sum of price ¢l
(c) the sum of price ol

domestic currency will improve the country’s trade
is true for price elasticitios of demand: :
asticities of exports and imports equals 1, :
asticities of exports and imports is less than 1. ,'

asticities of exports and imports is greater than 1.
(d) the price elasticity of exports exactly
QUESTION 19, Unde

will be
(a) vertical.
(b) horizontal.
(c) upward sloping.
(d) downward sloping.

matches the price elasticity of imports.

r nominal wage rigidity, the short run aggregate sﬁpply schedule

QUESTION 20. Okun’s Law refers to
(a) a negative rel

ationship between inflation and unemployment.
(b) a negative rel

ationship between unemployment and real GDP,
(¢) a negative relationship between interest rate and nmone

y demand.
(d) a negative relationship between inflation

and growth.

End of Part 1.
Proceed to Part IT of the examination on the noxt

page.
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Part II

Instructions.

e This part of the examination consists of 40 multiple-choice questions. Each question
is followed by four possible answers, at least one of whicli is correct. If mord than one
choice is correct, choose only the best one. Among the correct. answers, the best answer
is the one that implies (or includes) the other correct answer(s). Indicate your chosen best
answer on the bubble-sheet by shading the appropriate bubble.

e For each quést_ion, you will get 2 marks if you choose only the best answer. If you
choose none of the answers, then you will get 0 for that question. However, if you
choose somethiﬂg other than the best answer or multiple answers, then you
will get —2/3 mark for that question. |

The following notational conventions apply wherever the following symbols are
used. R denotes the set of real munbers. N, denotes the set of positive real numbers.

Q denotes the sot of rational numboers.

QUESTION 21. Supposc the function f @ Ryy — R i given by f(z) = ‘['lmt'“idt.

- Consider the following statcments: for o,y € Ry,

fle+y) = f@)+ fly) (1)

flay) = F(x) + f(y) | (i4)
In general, : .
(a) (1) is true and (41) is lalsc.
(b) (7) is false and (i1).is truc.
(c) Both are true.

(d) Both are false.

QUESTION 22. Supposc a real valued function f is defined for all real numbers excepting
0, and satisfies the following condition: f(xy) = f(z) + f(y) for all &,y in the domain.
Comnsider the statements: :

JQ) = (1) =0 (4)

JGe) = J{=w} for every (i7)
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(a) (3) is true and (#1) is False.
(b) (3) is false and (#2) is truc,
(c) Both are true.

(d) Both are false.

QUESTION 23. The closest point on the parahol
the vertical axis, with b > {, is the ori
(a) b< 3
(b) 6> 3
(c) b< 2
(d)b>2

gin if and only if

QUESTION 24. Let [ be a real valued differcr_itiablo
Consider the function F defined by F(
then on that interval F iy

(a) convex

(b) concave
(c) increasing
(d) decreasing

QUESTION 25. Consider the function f: % — % defined by

flz) = {:?:2, ifre Q
0,  otherwise
where @ is the set of rational numbers, Then, fis
(a) discontinuouy at every a s (), '
(b) is continuous at ui} points in Q.
(¢) continuous at, imultiple points.

(d) is discontinuous on a countable set, of points,

QUESTION 26. Suppose A and B are Square matrices that satisfy
d AB+ BA =0
» where 0 is a square m
(8.) A2B3 — B.’!AZ
(b) AZ’BB = B%49
(c) A2B% = p g4

(d) None of the above is necessarily true.

atrix of zeros. Then it must be that
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The next four quebtlons are based on the following data. Consider & Society

consisting of individuals. These individuals way belong to varions scts called Clubs and

Tribes. The collections of Clubs and Tribes satisty the following rules:
e The cutire g'm‘inty is o Tribe.

e The empty subsct of Society is also a Tribee.
sl of individuals who belong to cach Tribe in

e (iiven any cocht;Jou of Tyibes, the

that collection is also a 1 Yibe.
o Given any two TYyibes, the set of mchwchmls who belong to

Tribes is also a Tribe,
e A set of individuals is called

at least one of these

a Club if and ouly if the set of individuals not in it

constitute a Tribe.

QUESTION 27. The intersection of two Clubs is necessarily
(a) a Club '
(b} a Tribe
(c¢) not a Club
(d) not a Tribe

QUESTION 28. The union of a collection of Clubs is necessarily
(a) not a Club
(b) not a Tribe
(c) a Club
(d) a Tribe

QUESTION 29. Which of the {ollowing statements is necessarily Lrue?

(a) A set of individuals cannot be a Tribe and a Club.

b} There are at least two sets of individuals that are hoth a Club and a Tribe.

(b)
(¢) The union of & Club and a Tribe is o Tribe.
(d) The int{arsectinu of a Club and a Tribe is a Club.

QUESTION 30. Supposc we are given a Club and a Tribe. Then, Lhe set of individuals

who belong to the given Tribe hut not to the given Club necessarily constitute

{(a) a Club -

(b) & Tribe:
)

(c
(d) a Club and a Tribe

neither a Club, nor a Tribe

gl eort A0t
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The next two questions are based on the follow

ing information. Suppose X and
Y are two random varinhles, X can take

valies =1 and 1. Y can take integer values

between 1 and 6. The following is the joint probability distribu

tion of X and Y.

V=1 [ V=32 [ v=§ TVY=T T v=F Y =6

X =-1 0.1 a 0.3 0 () .0

X=1 0 0 b 0.1 0.1 0.1
It is known that the expectations of the two random variables are E(X)=-0.2and

E(Y) =3.2. Then

QUESTION 31. The valne ‘o’ in the table
(a) 0
(b) 0.1
(c) 0.2
(d) 0.3

cquals

QUESTION 32. The value ' in the table cquals
(a) O "
(b) 0.1
(c) 0.2

(d) 0.3

The next two questions are based on the following data.
independent random varinhles that follow the
Let Z = min{X, V).

Suppose X and Y are
nniforny distribution on the interval [0, 1.

QUESTION 33. I'1(Z 1.5) (the
(a) 0.25
(b) 0.5
(c) 0.625

probability that Z is loss thap (0.5) equals

(d) 0.75

QUESTION 34. Pr(Z « 0.5(X = 0.75) is
(a) 0.25
(b) 0.5

{¢) 0.625

(d) undetined.

QUESTION 35. Two players, A and B, will pl

ay a best of seven table tenﬁis match (i.e.,
the first to win 4 games will win the matct

1, and the match will have at most 7 games).
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~ The two players are equally likely to win any of the games in the match. The probability

that the match will end in 6 games is
(a) less than the probability that it will end in 7 games.
(b) equal to the probability that it will end in 7 games.
(c) greater th%m the probability that it will end in 7 ganes.
(d) None of (a}, (b) or {c} is true.

QUESTION 36. In order to join the ‘Gamers Club’, Mr. A must choose a box from the
two identical boxes in a room, and draw one ball from the chosen box. All he knows is
that both boxes are nonempty, and have a:mix of red and green balls. If the ball that he
draws from his chosen box is green, hic is admitted to the club. You arc given 2 identical
boxes, 50 red balls and 50 green balls, and asked to allocate these balls to the two boxes
in order to maximize-Mr. A's probability of being admitted to the club, given that he will
choose a box randomly. If you allocate these balls corrcetly, the probability that Mr, A
gets admitted to the club equals

(a) 1

(b) 0.747

(c) 0.547

(d) 0.257

QUESTION 37. Cousider the following equation to be estinated using ordinary least
squares: l :
Y =aqp + Cl,lXi + ap Xy + ay( X, — Xl) + o, X1 Xo +u

Which of the following statcients is true?

(a) The paramcters ag, ar, ty, @ can be estimated, but not .
(b) The parameters ag and ay can be estimated hut not (), oy, .
(c) The parameters wy, «, ¢y, y can be estimated, but not .

(d) All parameters can be estimated.

QUESTION 38. A rescarcher wanls to test whether there are gender differences in the
rates of immunization for boys and girls, alter controlling for parental income, mother’s
education and access to health care facilitics. The casicst way to test this would be to:

(a) Include one dummny variable in the mdtiple regression.

(b) Include two dumuy variables in the inultiple regression.

(c) Include interaction dwmmics in the multiple regression.

(d) Run two separate regressions-one for boys and one for girls.

QUESTION 39. Instead of estimating a production function y == r;.;, + o N+ a4 u,

where y is output, A is capital input. and Lis fabour input, a rescarcher ostimates g =

IR 2001 A 01 11

T e o

LT A M s AT D R e B A ML L,



ag + a1 K 4 u. It is known that in the true model, (l,g >0 and K and L are boinplements.
Which of the following is true?

(a) The estimated @, will be upwardly biased.
(b) The estimated a; will have a downward biss,

(¢) The estimated a; will be biased, but the dlI(‘C,tl()Il of bias cannot be determined.
(d) The estimated a) will be unbiased, but ay will be hw«vd

QUESTION 40. A student has the opportunity f()-tnk(' a test at most thrice. The student
knows that each time he takes the test, his score is an independent random draw from the
uniform distribution on the interval [0, 100]. After learning his score on a test, the student
can either stop and accept it as his official score, or he can discard the result and rctake the
test. If the student rejects his score twice and takes the test a third time, that score will
be his officinl score. If his objective is to maximize his expected official score, the student
will decide to be retosted after the very first tost if and only if his score is less than

{a) 50

(b) 62.5

{c) 75

(d) 87.5

QUESTION 41. A consumer has utility function w(ry, ) = min{2z, +x9, 21 + 220},
Her income is 3 = 100, the prices are py = 20 and py = 30. The amount of 71 in the utility
maximizing bhundle is -

(a) 7

(b) 5

(c) 2

(d) 0

QUESTION 42. Consider the samo utility function and income as above, but suppose

the prices are p; = 10 and Pz = 30. Then the amount of. ay in the utlhty maximizing
bundle is

(a) 10
(b) 5
(c) 2.5
(d) 0 _
QUESTION 43. A consumner spends Rs. 100 on only two goods, A and B. Assume non

satiation, i.e., more of any good is preferred to less. Suppose the price of B is fixed at
Rs. 20. When the price of A is Rs. 10, the consiner buys 3 units of B. When the price of
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A is Rs. 20, she buys units of A. From: tlns we can conclude that for the relevant price
range

(a)
(b) B is a complement of A. .
(¢) A is a Giflen good. ' '
(d) All of the above. ﬁ

A is an inferior good.

QUESTION 44. Consider a firm using two inputs to produce its output. It is known
that greater use of both inputs increases output. Moreover, for any combination of positive
input prices, the fir1n ciploys an input combination of the form (wx, ) where o > 0 is a
constant. Which of the following functions represents this firm’s technology?

(a) f(z,y) = min{z, y}

(b) f(z,y) = min{cr, y}

(c) flz,y) = minfz, cy)

(d) f(z,y) = min{xz, ¥}
QUESTION 45. Consider an exchange cconomy with two agents, 1 and 2, and two goods,
X and Y. There are 6 units of X and -1 vuits of ¥ available. An alloeation is denoted
by (z1,y1), (w2, y2), where (y,yy) is agent. s consumption bundle, (2,12) is agent 2s
consumption burfdle, T+ xp = 0 and ¥y + y2 = 4. Agent 1 has the utility function
ui(zy,y1) = 1111113[:1:1,;111} and agent 2 has the utility function wy(iry, y2) = min{zy, ya}.
Which of the folleing allocations is not Parcto cfficient?

(a) (2,2),(4,2)

(b) (3,2),(3,2)
(c) (3,1),(3,3)
(d) (1,2),(5,2)

QUESTION 46. Consider an exchange economy with two agents and two goods. The
agents have the same preferences as in the previous question. Agent s endowment is
(0, @) and agent 2's endowment is (4,0). What is generally true?

(a) Any allocation in which cach agent gets equal amounts of the two goods is an
equilibrium allocation. |

(b) If B < (Jf,.thcll the price of X is 0.

() If B > «, then the price of X is 0.

(d) Any alloc;atiun in which agent 2 gets none of good Y is an equilibrium allocation.

QUESTION 47. Consider an exchange cconomy with two agents and two goods. Agent
2's utility is as above. The cquilibrium allocation is (zy,4,) = (6,1) and (22, 2) = (4,4).
The equilibriumn prices are (1, 1). What could be the endowment? .
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(a) Agent 1’s endowment is (2,5) and agent 2’s endowment is (8,0).
(b) Agent 1's endowment is (7,0) and agent, 2 endowment is (3, 5).
(c) Both (a) and (b). |

(d) Neither (a) nor (b). ’

QUESTION 48. A firm has an order to suppl

¥ 20 units of output. It cén divide its
production across two different plants, 1

and 2, with cost functions ¢ (¢;) = qf and ¢3(go) =
3¢2 respectively. The total order must be produced, i.c., ¢ + ¢ = 20. To meet the total
production target at minimum cost, the amount of output the firm s}
first plant is

(a) 20 units.

(b) 15 units.

(¢) 10 units.

(d) 5 units.

wuld produce in its

QUESTION 49. Consider an exchange economy with two agents and aggregate endow-
ment (10,10). The agents’ utility functions are
2z + yo. Examples of efficient allocations arc

(8) (z1,31) = (5,10) and (#2,32) = (5,0)

(b) {z1,31) = (0, 10) and (2,92) = (10,0)

(©) (21,31) = (0,5) and (3,15) = (10, 5)
)

1@, y) = @ + 2y, and @2(552,92) =

(d) All of the above.

QUESTION 50. Consider the

following two giunes in strategic form.

Hawk : Hawk  Dove
Enter —1, 1 Enter -1t 3,3\
and
Not enter \ 10,6 Not enter \ 0,6 0,7

Compute the Nash cquilibri

sson can be drawn from
these equilibria?

a of the two games. What general le

(a) Eliminating a strategic option may be heneficial,
(b) Having extra strategic options is not beneficial,
(c) Having extra strategic options is beneficial, |

(d) Elimihating a strategic option is beneficial, -

QUESTION 51. Suppose the

following equation holds for an cconomy,
— W, N,
P=(1+ a) oL

at every time ¢
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That is the piice of output is a fixed markup over unit labour cost. Let 7 be the infia-
tion rate, w be the wage inflation rate, and A be the rate of growth in labour productivity.
(Labour productivity = Y;/N,). Which of the following is true?

(a) w=m— A
L)y m=w+ A ' '
(e)m=w—-2A
(dw=A-—mn

The next three questions have to do with the following fixed price model of an
economy. '

C=Co+C1(Y—-T), D<e <1

I =i+14r, 'L] <0

Y=C+I+G |
M =my+ Y +mnar, g < 0 < m
Mi=M, |

where C, I, G, Y, M M are respectively, aggrogate consumption, investment, govern-
ment expenditure, output, money demand, and money stock.

QUESTION 52.:: In this cconomy, an increase in G
(a) necessarily reduces /.
(b) may increase I.
{c) reduces I bnly if Ty is large.

(d) increases I only if 7. is small.

QUESTION 53.:The morc negative is 1y, ceteris paribus,
(a) the greater the effect of an inc:reasf: in G onr.
(b} the smaller the cffect of an increase in G on r,
(¢) The Izlagnitllcle of the effect of G on » does not depend on the magnitude of mo.
(

d) r decreases as G increases, but the magnitude of this is indeterminate.

QUESTION 54. If ¢| is very close to 1, then an increase in A has
(a) a very large positive impact on r. -
(b) a very small positive effect on 7.
(¢) a very small negative effect on 7.

(d) a very large negative impact on 7.

The next six que;stions are based on the following information. Consider an econ-
omy in which aggregate output is produced by using 2 factors, capital K and labour L. Ag-
gregate production technology is given by the production function: Y, = A(K)* (L),
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where A > 0 and 0 < o < 1. At each inst
proportion s of total ouiput i

capital stock in the next period. There is no de

‘at & constant rate n. Let A =20, o = 3, 8= nn ='{5. Then

QUESTION 55. The steady state level of out
(a) 50
(b) 1000
(c) 2500
(d) 5000

put per worker is

QUESTION 56. The rate of growth of aggregate output in the steady state is

QUESTION 57. The
(a) 25
(b) 2500
(¢) 5000
(d) 10000

goiden rule value of capital per worker is

QUESTION 58. The golden rule Ie
(a) 500
(b) 1000
(c) 250
(d) 25

vel of consumption per worker is

QUESTION 59. An increase in the

value of the paramcter 4 from its current value
(a) will increase the steady stato

level of output per worker and increase the growth
rate of aggregate output in the steady state.

(b) will decrease the steady state level of ontpuy
rate of aggregate ontput in the steady state.

(¢) will increase the steady state love

t per worker and increase the growth

ol output per worker and leave unchanged the
growth rate of aggregato output in the steady state. '

(d) will decrease the steady state level of output per worker and leave unchanged the
growth rate of aggregate output in the steady state.
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ant t, hoth factors are fully (-.'mployéd. A constant
LS saved and invested in every period, which a"ugments the

preciation of capital. Labour force grows

s
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) QUESTION 60. An increase in the value of the parameter n from its current value
) (a) will increase the steady state level of output per worker and increase the growth
_ rate of aggregate output in the steady state.
) (b) will decrease the steady state level of output per worker and increase the growth
) rate of aggregate output in the steady stile. '
) (c) will increase the steady state level of output per worker and leave unchanged the
) growth rate of aggregzlt(z output in the steady state.
(d) will decrease the steady state levol of output per worker and leave unchanged the
). growth rate of aggl'egat<z output in the stéa;dy state,
)
}
)
b
}
}
)
)
}
}
).
}
}
j
H
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